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Sub questions

Question Number : 1 Question Id : 68634022777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
TR TR H HERIUR U SR 61 © - H Waifehd Ue 31 a1 U 8 2
1. e & YR 9T
2. 3T 9
3.8 TH
4. fomuRiS

Options :

68634090001. 1
68634090002. 2
68634090003. 3
68634090004. 4

Question Number : 2 Question Id : 68634022778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & SR WR RASihdi R AT @6 © :
1.95
2. 20"
3. O & YIS
4. TSR & T
Options :

68634090005. 1
68634090006. 2



68634090007. 3
68634090008. 4

Question Number : 3 Question Id : 68634022779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OGP DI HI DI IS1-T61 94 Bl ToR TS & -

A. GRI @1 @8 AlHaR
B. YIS
C. ddlgld
D. Wal g gidl
E frdi g2
i fU 70 fJadhedl § T Tol 39 &1 99 Bt -
1. $AAB, C
Hdd A, DJE
HAAC,D.B

4 FAAATE

Options :

68634090009. 1
68634090010. 2
68634090011. 3
68634090012. 4

| ]

L5 ]

Question Number : 4 Question Id : 68634022780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fo5=1 ot @t U1g aEe & fea T T8l fie gadt & -

A. IRfed vAfde
B. ¢diag

C. 3a-d

D. &9

E. g

- feg g faoed! H ¥ Hel SR &1 99+ Hife -
1. PAUA, B

. $ddaC, D

3. HduD, E

4.%49d B, D

Options :

68634090013. 1
68634090014. 2
68634090015. 3
68634090016. 4

| ]

Question Number : 5 Question Id : 68634022781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 1 9 R SR © -
1. S HH & U8 & < o §ied 81
. §AqH AR
ST TEd BT 31T AR g3 Bl
4. 1 g T 5

Options :

68634090017. 1
68634090018. 2
68634090019. 3
68634090020. 4

| ]

LIPS ]

Question Id : 68634022776 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634022777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR H HERIUR U SR 61 © - H Waifehd Ue 31 a1 U 8 2
1. e & YR 9T
2. 3T 9
3.8 TH
4. fomuRiS

Options :

68634090001. 1
68634090002. 2
68634090003. 3
68634090004. 4

Question Number : 2 Question Id : 68634022778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & SR WR RASihdi R AT @6 © :
1.95
2. 20"
3. O & YIS
4. TSR & T
Options :

68634090005. 1
68634090006. 2



68634090007. 3
68634090008. 4

Question Number : 3 Question Id : 68634022779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OGP DI HI DI IS1-T61 94 Bl ToR TS & -

A. GRI @1 @8 AlHaR
B. YIS
C. ddlgld
D. Wal g gidl
E frdi g2
i fU 70 fJadhedl § T Tol 39 &1 99 Bt -
1. $AAB, C
Hdd A, DJE
HAAC,D.B

4 FAAATE

Options :

68634090009. 1
68634090010. 2
68634090011. 3
68634090012. 4

| ]
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Question Number : 4 Question Id : 68634022780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fo5=1 ot @t U1g aEe & fea T T8l fie gadt & -

A. IRfed vAfde
B. ¢diag

C. 3a-d

D. &9

E. g

- feg g faoed! H ¥ Hel SR &1 99+ Hife -
1. PAUA, B

. $ddaC, D

3. HduD, E

4. %ddB,D

Options :

68634090013. 1
68634090014. 2
68634090015. 3
68634090016. 4

| ]

Question Number : 5 Question Id : 68634022781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- e I T RA B -
1. 511 19 & Us @ i o Siad ol
. gad Afdd
il U5l ¥ BT 31T AR G 6l
4. =1 Pl BT =

Options :

68634090017. 1
68634090018. 2
68634090019. 3
68634090020. 4

| ]

LIPS ]

Sub-Section Number : 2
Sub-Section Id : 686340741
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frrfefad | 9 gqy 919y &1 =g S
1. T B I

T Yl

T BT
YT 61 5l g

Options :

68634090021. 1
68634090022. 2
68634090023. 3
68634090024. 4

| ]

Lad

s

Question Number : 6 Question Id : 68634022782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfafad & 9 Yy 9190 BT 99 BT
1. 4T B IS

T Y|

YT U
14T DI el g3l |

Options :

68634090021. 1
68634090022. 2
68634090023. 3
68634090024. 4

| ]

Ly ]

s

Question Number : 7 Question Id : 68634022783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UaghH & IR &I F1 a1 Hel g |
1. 319 631 |

S T

iy

4. 319 ST

Options :

)

Lad



68634090025. 1
68634090026. 2
68634090027. 3
68634090028. 4

Question Number : 7 Question Id : 68634022783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&b T & TR P11 a1 Ha1 ¢ |
1. Y &S|

AT TS B

EIEERY

4, 319 §f3Y|

Options :

68634090025. 1
68634090026. 2
68634090027. 3
68634090028. 4

| ]

faa

Question Number : 8 Question Id : 68634022784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FET B fGaH HHE-1 82
1. ST
TR
3. IR
4, SUIld

Options :

68634090029. 1
68634090030. 2
68634090031. 3
68634090032. 4

| ]

Question Number : 8 Question Id : 68634022784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &7 fadiy BiH-a1 82
1. YT

. YT

3. 3T

4, FHUnd

Options :

68634090029. 1
68634090030. 2
68634090031. 3
68634090032. 4

| ]

Question Number : 9 Question Id : 68634022785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eI Xg-arar & {10 Us Weg HH-91 67
1. GHET
dluig

3. QRad
4, gaogrdt

Options :

68634090033. 1
68634090034. 2
68634090035. 3
68634090036. 4

| ]

Question Number : 9 Question Id : 68634022785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST XG-aIaT & (o0 USh Weg SIH-11 32
1. GHEM
iy

3. QMRad
4, gaogrd

Options :
68634090033. 1

| ]



68634090034. 2
68634090035. 3
68634090036. 4

Question Number : 10 Question Id : 68634022786 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST aoiT HeTaX &1 -1 fafgd & 9 wgt ofd g2
1. g gHl
RCHICRISE

EsciNEn
4. yguid giAT

Options :

68634090037. 1
68634090038. 2
68634090039. 3
68634090040. 4

| )

Lad

Question Number : 10 Question Id : 68634022786 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST T HgTdX &1 -1 fafad & 9 w8t o | g
1. G EA
T e

GBI
4. HgHid g1

Options :

68634090037. 1
68634090038. 2
68634090039. 3
68634090040. 4

)

Laa

Question Number : 11 Question Id : 68634022787 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafaa § 9 o e R @maemEtt, nforas ik saifast 6 Sodt. 2raree] § Seuid & ed U 3R
Tl & HeH UEE JRiaH- e aitd & SRaR & A3 4 T U6 92

1. HTEBET
T g

SR DY
4, RIBMHARBY

Options :

68634090041. 1
68634090042. 2
68634090043. 3
68634090044. 4

| ]

faa

Question Number : 11 Question Id : 68634022787 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFEfafead § O &1 Ue YRG™ IauraEt, Toas SR Saifas 6 sudl. Tdsal § 9o 3 38d 4 3R
TTal & 9 U@ JuigH- [Awaned & eXaR & A3 T Td 42

1. HRBET
TaE gH

SR P
4. AR

Options :

68634090041. 1
68634090042. 2
68634090043. 3
68634090044. 4

| ]

L]

Question Number : 12 Question Id : 68634022788 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UEe YR Raars! {5 YRd o fau veedle § sfiedfis O @l ued oidi g 98 6 -
1O 3L 3w

AR Fge

4, 41, 9.y

Options :

68634090045. 1
68634090046. 2
68634090047. 3
68634090048. 4

| ]

[ 5]

Question Number : 12 Question Id : 68634022788 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl YR faarst for= yRd & fou vwite § siicfis § @ul ues Sidig 98 8 -
1.9 €1 S

AR FsT

4. °1 ot iy

Options :

68634090045. 1
68634090046. 2
68634090047. 3
68634090048. 4

| B

Lad

Question Number : 13 Question Id : 68634022789 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T’ B SR URIYS $ f61 T Jfad g1+ are o &1 gu 31 Seard o
LGgH

%

4. PIARCIA

Options :



68634090049. 1
68634090050. 2
68634090051. 3
68634090052. 4

Question Number : 13 Question Id : 68634022789 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T’ & SR URIYS S f&1 T Jfad g1+ are o &1 gu 31 Seard o
LGgH

%

4. PIARCIA

Options :

68634090049. 1
68634090050. 2
68634090051. 3
68634090052. 4

Question Number : 14 Question Id : 68634022790 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UERT @ THIY 3R Y-S ivfd AR P § ¥ oH-9 e 4 Sefia e

A. PHRRTHAG
B. ol ¥H
. dlg o
D. fég e

- U U foeed # © 981 STR & 909 Sifoe:
1.%ad A. B R D

. $ad B, C ARD

.$ad C IR D

4, 99AD

Options :

68634090053. 1
68634090054. 2
68634090055. 3
68634090056. 4

| )

L



Question Number : 14 Question Id : 68634022790 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UeRT 1 B1U 3R Ya-Sep 1iofd AfeR Fefafad # €S-8 ¥ 9 g6idd g2

A. SRRTYAG
B. o ¥H
C. dig od
D. Egvyd

1 feu U fasedl O O g1 IR & 904 Hifeid:
1. %ad A, B SR D

PAAB, C AR D

.Pad C AR D

4.%49UD

Options :

68634090053. 1
68634090054. 2
68634090055. 3
68634090056. 4

| ]

L5 ]

Question Number : 15 Question Id : 68634022791 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=i fbd YRd & g uld & Fatem §q Mal=e® dsd &1 167 gidl 82

A. @ld 941 & Haifad gew

B. U@ Iod & [GUTH 9T & (Haiiad e
c. faur uftwe & fFafa 1w

D. 3T JHT & Faif=a 95

2 fou o fdwedl 3 € 9t SR @1 7oA i
1. #ad A, B 3R D

HAd A, C HRD

. $adA B, C AR D

4.%ad A 3N B

Options :

68634090057. 1
68634090058. 2
68634090059. 3

| )

[#5]



68634090060. 4

Question Number : 15 Question Id : 68634022791 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[F=ifard fa e YRT & Igufa & (Hafem &g Faas ded &1 789 gial 67

A @F U & Faifa gew

B. Ud® Io0 & fau 941 & Haifd 95w
c. faur afvee & fAaffa ge

D. 3T 41 & fHaifa gew

- fau e fam et § 9 et SR @ 904 $if:
1. %ad A, B SR D

. ®ad A, C SR D

$adB, C ARD

4, Pad AR B

Options :

68634090057. 1
68634090058. 2
68634090059. 3
68634090060. 4

| ]

L]

Question Number : 16 Question Id : 68634022792 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ﬂé’fﬁ%ﬁﬁﬁﬁﬁfﬂﬂﬂﬂ@ﬂ?{ﬁﬁﬁ%@ﬁﬁ%ﬁ 1891 3R F1fe R 9 3841 8| dfda & ol &1 $a I
feoa-t g2

1.

n
L

)
Lh
(=}

4. 58

Options :

68634090061. 1
68634090062. 2
68634090063. 3
68634090064. 4

Question Number : 16 Question Id : 68634022792 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wufﬁ%@mﬁf&mw @1 R Ufckd & aid RR 9 1841 3R arfed RR Y 38d7 g1 Uld 1 SH1 &1 $a 9@
feoa-i g2

1. 55

| ]
Lhn
h

L4 ]
[

4. 58

Options :

68634090061. 1
68634090062. 2
68634090063. 3
68634090064. 4

Question Number : 17 Question Id : 68634022793 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe St faeedi § T & AR 3! B 3aRiel HH & ogafeyd o faar o |, O Fefafaa & 3 St
T ey BIeT IT TET 8 Sty

1. 865

[ )

. 468

[#F]
L
o
[ 5]

4, 786

Options :

686340900065. 1
68634090066. 2
68634090067 3
68634090068. 4

Question Number : 17 Question Id : 68634022793 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe d et Aol § 9w & 9R 3i@! &1 el $H H cuafiyg o faar o, Jf efaiaa § O et
e gay wic] Ii T3 gl St

1. 865
2. 468

3

Ln

93

4. 786

Options :

68634090065. 1
68634090066. 2
68634090067 3
68634090068. 4

Question Number : 18 Question Id : 68634022794 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUT - DS 1 39 e guf &9 3§ AR e

freep - 1, fopdt oft =1 & fTT Sroefl Saxg el & SITER 9d 8 I 3R Sadfad Bl

YT T
1. &% & S HIYROIC: HTTH BITUE |

e 11 Frspe @ e
. ad 1 SR 11 (Y AR Bl § |
3. Fen 1 styar sy 11 AN BT B
4, %aq 1 FsHy A BT B

Options :

68634090069. 1
68634090070. 2
68634090071. 3
68634090072. 4

ot

-2

Question Number : 18 Question Id : 68634022794 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B - By I 3 feipd guf =U F st iR 181 2
[ . 1. Tt o1 =1 o o7y Uit SiaRg s dl & SIUR 96 $© S0 AR SIS BT
SEYA B
1. &0 & TN YR ST 81 U g |
Tad 11 Fred an eI 3|
. ad 1 AR 11 Py AR B B
3. foreapd 1 v Frspd 1 AL BT R
4. %ad I (b AR EIaT 3|
Options :
686340900609. 1
68634090070. 2

68634090071. 3
68634090072. 4

[

| B

Question Number : 19 Question Id : 68634022795 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ERil ﬂj’@?ﬂ 1224, 612, 204, 102, 34,.......
T STe! T &1 gl

1.18

| )

17

3. 16

4.1

L]

Options :

68634090073. 1
68634090074. 2
68634090075. 3
68634090076. 4

Question Number : 19 Question Id : 68634022795 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o9 @Al 1224, 612, 204, 102, 34,......
T 3T T 1 s

1.18

)

.17

3. 16

4.1

L]

Options :

68634090073. 1
68634090074. 2
68634090075. 3
68634090076. 4

Question Number : 20 Question Id : 68634022796 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o: [z s, wielldl, g5, difir, Udhdl SR IRy Ue Ufdd J STk &1 $iR g PP 66 & | Tl 3R=U]
3R bl & di= H &3 31 i1 i iR R =781 ¢ | F6ild Ul & g alie o981 g | B1ivar e RR
R 51 § | SIU®] & g3 alled B g7

1. A&
. g&ldr

cdsl

| ]

[ 5]

4. Uhdl

Options :

68634090077. 1
68634090078. 2
68634090079. 3
68634090080. 4

Question Number : 20 Question Id : 68634022796 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



©: i aR=on, el =, ST, Ul SR BIRa Ue Ufdd J STk &1 3R 58 PP 66 & | T, 3R=01
3R Uwdl & &< H 961 81 et fohdi RR R =161 8 | aiid1 Uhdl & g alfe- 981 § | Wi e R
TR 51 § | SITUeT & qed alie & 87

1. 3T
gl

e

-J

T

4. U dl

Options :

68634090077. 1
68634090078. 2
68634090079. 3
68634090080. 4

Question Number : 21 Question Id : 68634022797 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G TR0 3x2 — 10x +2p= 0P HAGHA G I p BT HH FITGHT -

2
3
) 25
[{]
3. 23
3
Koo
6
Options :

68634090081. 1
68634090082. 2
68634090083. 3
68634090084. 4

Question Number : 21 Question Id : 68634022797 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT FHIHRO1 352 — 10x +2p =0 P A GHA § Al p BT HH T GHT :

A
|

3

6

3.2

3
Kol
b

Options :

68634090081. 1
68634090082. 2
68634090083. 3
68634090084. 4

Question Number : 22 Question Id : 68634022798 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1% Pig UM 4 a8 1 R Wiawrd IealS od7el U= 3 0N 61 &fidl § df del A JHH &< R fha auf § @
&1 27 TN G SIUT -

1. 16TY
18T
31539
4. 1279

Options :

68634090085. 1
68634090086. 2
68634090087. 3
68634090088. 4

| ]

Question Number : 22 Question Id : 68634022798 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Pig AT 4 T8 § R WAWd Fh gl oaTel R 3 0N 31 Ol § O ag! 013 IHH & &R fba- auf & w4
1 27 UM g SIUe -

1. 1694
18Ty
15 ay
41299

Options :

68634090085. 1
68634090086. 2
68634090087. 3
68634090088. 4

| ]

faa

Question Number : 23 Question Id : 68634022799 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l SISRIEd UTHl 1 Bepl Il 8, U UM U 3 4 3@ b aul g8 U WR 4 ¥ (S 3idh 31 P
T &1 B

12
6

)
|

=

= R

Options :

68634090089. 1
68634090090. 2
68634090091. 3
68634090092. 4

Question Number : 23 Question Id : 68634022799 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&l TSRS UTHl 1 Bepl Wl 5. Ugd UK X 3 H 3 3eb aul g8 U8 WR 4 9 (S 3fch 1 P
TS T 3T g

1 2
6

[ )

- L%

Options :

68634090089. 1
68634090090. 2
68634090091. 3
68634090092. 4

Question Number : 24 Question Id : 68634022800 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 T3] T S 52 & | U8a 6 SISl &1 39 53 © Ul 3ifH 5 S=rsil &1 S9ad 498 df , B8l
WWW

1.51

[ ]
s
o

L4 ]
Lh
2

4.5

L
L

Options :

68634090093. 1
68634090094. 2
68634090095. 3
68634090096. 4

Question Number : 24 Question Id : 68634022800 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 @13l BT 71T 52 1 UGd 6 SN 1 31199d 55 8 quT i 5 Teamsf &1 s{aa 40§ ol . 98l
T J1d Biferd

1.51

)
e
o

4. 55

Options :

68634090093. 1
68634090094. 2
68634090095. 3
68634090096. 4

Question Number : 25 Question Id : 68634022801 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l gHiR geRal W, 2 sRiaR 250 HY. aFelg $I Yorisal fqudid fan # fog A sik fdig B 9t g1 97y
TR 36 fhHI/EeT 3R 44 fHHl/GTT 1 910 U 90 61 § | o1d d T GUR I UR Bl 6 ol U Lol Garl
T ¥ 40 {5t 3 g U A g1 g A iR g B T dm T g gl -

1. 399.0 fapdit
. 400.0 Toodt
.399.5 fopmit
4. 400.5 fep it

Options :

68634090097. 1
68634090098. 2
68634090099. 3
68634090100. 4

| ]

L¥N]

Question Number : 25 Question Id : 68634022801 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& IR 9e il IR, 3 aRTeR 250 Ol Tl o] Yarnisar fausid f3en 4 fdg A iR fdg B 9 U® &1 99y
R 36 fati/der 3R 44 fobeilder 1 =re 9 =e 381 § | Ofd d U S8R I UR Xl & df U Yeisl, gadl
TS ¥ 40 forsit 31fere gt 7 Bl 51 foig A SR foig B & oig 31 g3 Bl -

1. 399.0 Tt
.400.0 fopit
.399.5 fopdit
4. 400.5 fpt

Options :

68634090097. 1
68634090098. 2
68634090099. 3
68634090100. 4

| )

LF¥]

Part B: Philosophy

Section Id : 686340452
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340742
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634022802 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the third law of thoughts?

1. The principle of Identity

| )

. The prineiple of non-contradiction

L¥%)

. The principle of excluded middle

4. The principle of hypothesis
Options :
68634090101. 1
68634090102. 2
68634090103. 3
68634090104. 4



Question Number : 26 Question Id : 68634022802 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foraR o1 qofta Fram @ g2
1. drered Fag
STl T

[ )

3. rafad Areg Faa

4, IR BT [¥gid
Options :
68634090101. 1
68634090102. 2
68634090103. 3
68634090104. 4

Question Number : 27 Question Id : 68634022803 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Ethics of 'Triratna’ belongs to

1. Jainism

| )

. Buddhism
3. Vedanta

4, Mimamsa
Options :
68634090105. 1
68634090106. 2
68634090107. 3
68634090108. 4

Question Number : 27 Question Id : 68634022803 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ifaerd & BRa foay geafed 82
1. S
2. iy
3. daid
4. HimrE

Options :
68634090105. 1




68634090106. 2
68634090107. 3
68634090108. 4

Question Number : 28 Question Id : 68634022804 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the founder of Utilitarianism?

1. Jeremy Bentham

| )

. Aristotle
3. Immanuel Kant

4. Benedict Spinoza
Options :
686340901009. 1
68634090110. 2
68634090111. 3
68634090112. 4

Question Number : 28 Question Id : 68634022804 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SUTIAIGTATE & RIS 1 82
1. oA gl
2. K]
3. HMUA BT
4. IS fae

Options :

68634090109. 1
68634090110. 2
68634090111. 3
68634090112. 4

Question Number : 29 Question Id : 68634022805 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Nyaya-Vaisesika systems. Svavyabhicara is

1. Different reasons may prove different conclusions

| )

. Same reason may prove same conclusion
3. Same reason may prove opposite conclusions

4, Different reasons may prove same conclusion



Options :

68634090113. 1
68634090114. 2
68634090115. 3
68634090116. 4

Question Number : 29 Question Id : 68634022805 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1Y - a2if¥e Yured! ¥ Weuli=R g-

1. faftrs e faftm fafadt @t ofy s g@d 81
. 9 HRFHH gl &1 gy a= gadi gl
3. TOH BRU fausid Feafl &1 gif #1 9sdal g
4. faodia R v fFrafaal 3 gfy s gears|

Options :

68634090113. 1
68634090114. 2
68634090115. 3
68634090116. 4

[ )

Question Number : 30 Question Id : 68634022806 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Contraposition’ is a process of

1. Conversion - Obversion - Conversion

| )

. Obversion - Conversion - Obversion
3. Conversion - Conversion - Obversion

4. Obversion - Obversion - Conversion
Options :
68634090117. 1
68634090118. 2
68634090119. 3
68634090120. 4

Question Number : 30 Question Id : 68634022806 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wfa-aRad feas! ue ufera g2
1. gRadH- widad=- gRad-
2. UfaadH-uRad=-ufaad=
3. URadA-aRad=-ufdad=

4. widga--ufaad--uitaad
Options :
68634090117. 1
68634090118, 2
68634090119. 3
68634090120, 4

Question Number : 31 Question Id : 68634022807 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Vedanta 1s also known as

1. Veda
2. Sambhita
3. Purana

4. Upanishad
Options :
68634090121. 1
68634090122. 2
68634090123 3
68634090124. 4

Question Number : 31 Question Id : 68634022807 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deT=d 1 39 T B-
1.9

g

3. R0

4. 3G

Options :

68634090121. 1
68634090122. 2
68634090123. 3
68634090124. 4

| ]



Question Number : 32 Question Id : 68634022808 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Tgnoratio Elenchi' means

1. The appeal to emotion

| )

. Argument against the person
3. Missing the point

4. Appeal to force
Options :
68634090125. 1
68634090126. 2
68634090127. 3
68634090128. 4

Question Number : 32 Question Id : 68634022808 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR el iR Rifg-Ew @1 srf giar -
1. HIGTES 3y

. oifdd-faes 9 qIy

gy -daxuay

4. 99 AP Y

Options :

68634090125. 1
68634090126. 2
68634090127. 3
68634090128. 4

]

Lad

Question Number : 33 Question Id : 68634022809 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 1s the founder of the theory of Deontology?

1. Aristotle

| )

IS NGl
3. Plato

4, Immanuel Kant
Options :
68634090129. 1
68634090130. 2
68634090131. 3



68634090132. 4

Question Number : 33 Question Id : 68634022809 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifoemre & uoms Rt Rgid & SNs e 2

1. 3RE]
.ol Ug, {9

3. Wiel
4. QHFUT BT

Options :

68634090129. 1
68634090130. 2
68634090131. 3
68634090132. 4

[ )

Question Number : 34 Question Id : 68634022810 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the permanent reality according to Thales?

1. Atom

[ )

CAdr
3. Fire

4. Water
Options :
68634090133. 1
68634090134. 2
68634090135. 3
68634090136. 4

Question Number : 34 Question Id : 68634022810 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I & IR TR aRafaddl o 82
1. TRHT

. a
3. 3l

[ ]

4. 9ld
Options :



68634090133. 1
68634090134. 2
68634090135. 3
68634090136. 4

Question Number : 35 Question Id : 68634022811 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who talked about 'Being qua Being'?

1. Plato

| )

. Aristotle
3,18 Mall

4, John Locke
Options :
68634090137. 1
68634090138. 2
68634090139. 3
68634090140. 4

Question Number : 35 Question Id : 68634022811 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 &d- 98- 3ifida & favg § feogq samanm
1. el

2. 3T,
3.9 9. {59

4, i1 i
Options :
68634090137. 1
68634090138. 2
68634090139. 3
68634090140. 4

Question Number : 36 Question Id : 68634022812 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Metaphysics 1s related to

1. Reality

-2

. Ideas

L%}

. Sense-perceptions

4. Beliefs
Options :
68634090141. 1
68634090142. 2
68634090143. 3
68634090144. 4

Question Number : 36 Question Id : 68634022812 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. aRAfa®dr
2. faaR

3. Efgg- |y

4. fagyra
Options :
68634090141. 1
68634090142. 2
68634090143. 3
68634090144. 4

Question Number : 37 Question Id : 68634022813 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Bta’ means

1. Gross elements

2

. Consciousness
3. Subtle elements

4, Moral order of the Universe
Options :
68634090145. 1
68634090146. 2
68634090147. 3
68634090148. 4



Question Number : 37 Question Id : 68634022813 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B ¥ N B-

1. R ad
2. daAT

3. 98 dd

4, FEITS ®f Afdd cgawy
Options :
68634090145. 1
68634090146. 2
68634090147. 3
68634090148, 4

Question Number : 38 Question Id : 68634022814 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who said 'Esse est Percipi'?

1. John Locke

| )

. Gotlab Frege
3. George Berkeley

4, Immanuel Kant
Options :
68634090149. 1
68634090150. 2
68634090151. 3
68634090152. 4

Question Number : 38 Question Id : 68634022814 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

78 g% RR g Ferue
1. S dld

Tedd bl

3. S5l g

4. TS BT
Options :
68634090149. 1
68634090150. 2

[ ]



68634090151. 3
68634090152. 4

Question Number : 39 Question Id : 68634022815 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Pitaka’ is the collection of teachings of

1. Samlkhya Philosophy

| )

. Nyaya Philosophy
3. Jama Philosophy

4. Buddhist Philosophy
Options :
68634090153. 1
68634090154. 2
68634090155. 3
68634090156. 4

Question Number : 39 Question Id : 68634022815 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Toes foge! e 1 9ug g
1. 9 &=H
2. 19 &%
3.0 5
4. 891G 58

Options :

68634090153. 1
68634090154. 2
68634090155. 3
68634090156. 4

Question Number : 40 Question Id : 68634022816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Conversion of "All men are mortal” is

1. No men are mortal

[ )

. Some men are mortal
3. Some mortal beings are men

4. No mortal beings are men
Options :



68634090157. 1
68634090158. 2
68634090159. 3
68634090160. 4

Question Number : 40 Question Id : 68634022816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quff oafdd AR B 1 URadH &-
1. @IS B R el &1
2. T8 I TR G
3. 7o AR Ul g9 §)
4. DTS AR Ul A 81 3

Options :

68634090157. 1
68634090158. 2
68634090159. 3
68634090160. 4

Question Number : 41 Question Id : 68634022817 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Catuskotivinirmaya' is the theory of

1. Madhyamika School

| )

. Yogacara School
3. Viynanavada

4. Svatantra Vijnanavada
Options :
68634090161. 1
68634090162. 2
68634090163. 3
68634090164. 4

Question Number : 41 Question Id : 68634022817 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. HIeOiH® gua™

2. TR SUe™
3. fagHarg

4. Iqad- [agaKg
Options :
68634090161. 1
68634090162, 2
68634090163. 3
68634090164, 4

Question Number : 42 Question Id : 68634022818 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many figures are in syllogism

1.2

4.5
Options :
68634090165. 1
68634090166. 2
68634090167. 3
68634090168. 4

Question Number : 42 Question Id : 68634022818 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

graare 1 fdoa gid 8id 82

1.2

[ ]
T

4.5
Options :
68634090165. 1
68634090166. 2
68634090167. 3
68634090168. 4



Question Number : 43 Question Id : 68634022819 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the meaning of "Epistemology'?

1. Theory of Truth

| )

. Theory of Error
3. Theory of Knowledge

4. Theory of Innate Ideas
Options :
68634090169. 1
68634090170. 2
68634090171. 3
68634090172. 4

Question Number : 43 Question Id : 68634022819 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SH-HHET BT 1 SHYY Sl o
1. I BT Riegid
2. ¢ &1 f¥rgid
3. ¥H &1 fisid
4. gfTe foar! & Ragid

Options :

68634090169. 1
68634090170. 2
68634090171. 3
68634090172. 4

Question Number : 44 Question Id : 68634022820 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Poqg

, . 1s the form of

plog

1. Modus Ponens

| S

. Modus Tollens

¥ 5]

. Hypothetical Syllogism

4. Inductive Logic
Options :
68634090173. 1
68634090174. 2



68634090175. 3
68634090176. 4

Question Number : 44 Question Id : 68634022820 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

poOg !
. DI¥UE-
plo.g

1. faurTae sqeardaH

2. FY TS smarIaT
3. Bdi¥d rgareg

4, AMTHATHS db
Options :
68634090173. 1
68634090174. 2
68634090175. 3
68634090176. 4

Question Number : 45 Question Id : 68634022821 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which figure. Middle term is in predicate place in both the premises?

1. 1st figure

| )

. 2nd figure
3. 3rd figure

4. 4th figure
Options :
68634090177. 1
68634090178. 2
68634090179. 3
68634090180. 4

Question Number : 45 Question Id : 68634022821 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forar anmpfa 8 ST YR aredi & 7egd U Gt R d g ee
1. 9YH 31pfd

[t erpfa

i epid

4. 9 smpid

Options :

68634090177. 1
68634090178. 2
68634090179. 3
68634090180. 4

[ ]

[F¥]

Question Number : 46 Question Id : 68634022822 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Capital Punishment 1s not acceptable mn

1. Deterrent Theory

| )

. Preventive Theory
3. Retributive Theory

4. Reformative Theory
Options :
68634090181. 1
68634090182. 2
68634090183. 3
68634090184. 4

Question Number : 46 Question Id : 68634022822 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g &5 frad witerd 98l 82
1. fHaR® gl
R Rigia
3. Uiaer fersid

4. QURTESP fgia
Options :
68634090181. 1
68634090182. 2
68634090183. 3
68634090184. 4

[ )



Question Number : 47 Question Id : 68634022823 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who talked about 'Categorical Imperative'

1. Aristotle

[ )

. Plato
3. Immanuel Kant

4. Socrates
Options :
68634090185. 1
68634090186. 2
68634090187. 3
68634090188. 4

Question Number : 47 Question Id : 68634022823 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRUe g & favg 7 fg- gqman

1. 3R]
&iel

3. SAREE BT
4. dPId

Options :

68634090185. 1
68634090186. 2
68634090187. 3
68634090188. 4

| )

Question Number : 48 Question Id : 68634022824 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote: 'An essay concerning human understanding'?

1. Rene Descartes

[ )

. John Locke
3. David Hume

4. George Berkley
Options :
68634090189. 1
68634090190. 2
68634090191. 3



68634090192. 4

Question Number : 48 Question Id : 68634022824 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T DI §gHA SIS fbg ferd o
1. 3 S@ey
2. S @i
3. Sfds gy
4. SIS §

Options :

68634090189. 1
68634090190. 2
68634090191. 3
68634090192. 4

Question Number : 49 Question Id : 68634022825 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which theory talks about Maximum happiness for the Maximum number of people'?

1. Utilitarianism

| )

. Deontology
3. Theory of Normative ethics

4, Virtue ethics
Options :
68634090193. 1
68634090194. 2
68634090195. 3
68634090196. 4

Question Number : 49 Question Id : 68634022825 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i aE TEa & T & e ifeds Ugwar & 9R § -1 [Rigid gard1 g2
1. Iugifararg
. givumH e arg

[ N [ =
e Afded & [gid

4, [T Afcd

Options :

[ B}

L]



68634090193. 1
68634090194. 2
68634090195. 3
68634090196. 4

Question Number : 50 Question Id : 68634022826 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Jainism. "Pudgala’ means

1. Form
2. Matter
3. Substance

4. Spirit
Options :
68634090197. 1
68634090198. 2
68634090199. 3
68634090200. 4

Question Number : 50 Question Id : 68634022826 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S & gea &1 Afimm g e-
1.3
2. 931 @)
3. %00 (W)

4. JHTHT
Options :
68634090197. 1
68634090198. 2
68634090199. 3
68634090200. 4

Question Number : 51 Question Id : 68634022827 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who 1s the propounder of "Mind-Body Dualism'?

1. Spinoza

| )

. Leibniz
3. Rene Descartes

4. Hume
Options :
68634090201. 1
68634090202. 2
68634090203. 3
68634090204. 4

Question Number : 51 Question Id : 68634022827 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRETD-RRR GdalE’ & Tadd B o7
1. Feg=Tom
2. Citgfret
3.3 SWIeH
4.’4H

Options :

68634090201. 1
68634090202. 2
68634090203. 3
68634090204. 4

Question Number : 52 Question Id : 68634022828 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Panch-Mahavratas' is a practice of which of the following religions?

1. Jainism

| )

. Buddhism
3. Yoga

4, Vedanta
Options :
68634090205. 1
68634090206. 2
68634090207. 3
68634090208. 4



Question Number : 52 Question Id : 68634022828 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Tt [y o B uur ge
1.5 o
2. dig oy
3.9
4. derd

Options :

68634090205. 1
68634090206. 2
68634090207 3
68634090208. 4

Question Number : 53 Question Id : 68634022829 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is a Heterodox system?

1. Carvaka

[ )

. Samkhya
3. Vedanta

4, Mimamsa
Options :
68634090209. 1
68634090210. 2
68634090211. 3
68634090212. 4

Question Number : 53 Question Id : 68634022829 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafdad o 9 o -4l U ggudacal G9Er 82
1. Ardid
2. 9/
3. deid
4. HimrEm
Options :

68634090209. 1
68634090210. 2




68634090211. 3
68634090212. 4

Question Number : 54 Question Id : 68634022830 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Critigue of Pure Reason is written by

1. Rene Descartes

| )

. Gotlob Frege
3. Bertrand Russell

4, Immanuel Kant
Options :
68634090213. 1
68634090214. 2
68634090215. 3
68634090216. 4

Question Number : 54 Question Id : 68634022830 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< fovfess sife @R o7 fras gr fofaa &2
1.3 S EH
2. Tiedrd b
3. Tes W
4, SHMUT BT

Options :

68634090213. 1
68634090214. 2
68634090215. 3
68634090216. 4

Question Number : 55 Question Id : 68634022831 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Conversion by limitation' means

1. Both premise and conclusion have same quality

| )

. Both premise and conclusion have same quantity
3. Prenuse and conclusion have different qualities

4. Premise and conclusion have different quantities
Options :



68634090217. 1
68634090218. 2
68634090219. 3
68634090220. 4

Question Number : 55 Question Id : 68634022831 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufkfer ufkad= &1 ared -
1. HYRATERT HR Feps ST H 0 701 g1l 81
 SYRATE 3R 16 g1 H F8rE aiam gidi g1
3. SMYRATET 3R s S H 3eT1- 3 01 Bidl 81
4, TR AR b 1 1 SeTT- e uieHTor gicll g |

Options :

68634090217. 1
68634090218. 2
68634090219. 3
68634090220. 4

|

Question Number : 56 Question Id : 68634022832 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who said 'Perception’ is the only means of valid knowledge?

1. Jainism

| )

. Buddhism
3. Carvaka

4. Nyaya
Options :
68634090221. 1
68634090222. 2
68634090223. 3
68634090224. 4

Question Number : 56 Question Id : 68634022832 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dsy 19 &1 31ef Haa Heel 91 S ¢ | [ae der up
1. S
2. digud
3. A1di®

4. 4
Options :
68634090221. 1
68634090222. 2
68634090223. 3
68634090224. 4

Question Number : 57 Question Id : 68634022833 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following is the profounder of Non-violence?

1. Amartya Sen

| )

.M. K. Gandhi
3. Ambedkar

4. R.N Tagore
Options :
68634090225. 1
68634090226. 2
68634090227. 3
68634090228. 4

Question Number : 57 Question Id : 68634022833 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & ufaurge & 82
1. 3 9

. UH. &, it

3. AP

4. 3R, T TTIR

Options :

68634090225. 1
68634090226. 2
68634090227. 3
68634090228. 4

| )



Question Number : 58 Question Id : 68634022834 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rene Descartes was a

1. French Philosopher

[ )

. Dutch Philosopher
3. Spanish Philosopher

4. Greek Philosopher
Options :
68634090229. 1
68634090230. 2
68634090231. 3
68634090232. 4

Question Number : 58 Question Id : 68634022834 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e,
1. Wi gRifFe
2. 59 aRiHS®
3. W ERIAS
4. g RIS

Options :

68634090229. 1
68634090230. 2
68634090231. 3
68634090232. 4

Question Number : 59 Question Id : 68634022835 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following represent Shankaracharya's philosophy?

1. Dvaita-dvaita

| )

. Advaita vada
3. Visistadvaita

4. Achintya Bheda-abheda
Options :
68634090233. 1
68634090234. 2
68634090235. 3



68634090236. 4

Question Number : 59 Question Id : 68634022835 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B & S DT UPR &-
L. Gal-gd
2. 3fgaarg
3. fafdreTea
4. 3T Hardg

Options :

68634090233. 1
68634090234. 2
68634090235. 3
68634090236. 4

Question Number : 60 Question Id : 68634022836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who said 'Cogito ergo Sum'?

1. John Locke

| )

. Bertrand Russell
3. Jeremy Bentham

4. Rene Descartes
Options :
68634090237. 1
68634090238. 2
68634090239. 3
68634090240. 4

Question Number : 60 Question Id : 68634022836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

pifeTe! gl 9 fohe el Ur
1. S dld
2. @es d
3. SiHT Sy
4.3 SWBICH

Options :



68634090237. 1
68634090238. 2
68634090239. 3
68634090240. 4

Question Number : 61 Question Id : 68634022837 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Indian Ethical tradition 'Dharma’ means

1. Duty

| )

. Moral Principle

. Wealth

L¥%)

4. Desire
Options :
68634090241. 1
68634090242. 2
68634090243. 3
68634090244. 4

Question Number : 61 Question Id : 68634022837 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR TRt oia & o &1 e 8-
1. P
. SRV [gid

3.494

[ )

4. g1
Options :
68634090241. 1
68634090242. 2
68634090243. 3
68634090244. 4

Question Number : 62 Question Id : 68634022838 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which proposition doesn't have any valid conversion?

1.LA

| )

s

4.0
Options :
68634090245. 1
68634090246. 2
68634090247. 3
68634090248. 4

Question Number : 62 Question Id : 68634022838 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg wfcsie © i3 9y uRkad- T8l Bid1 82

1.LA

| )

i

4.0
Options :
68634090245. 1
68634090246. 2
68634090247. 3
68634090248. 4

Question Number : 63 Question Id : 68634022839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which term is distributed in "Some flowers are Beautiful"?

1. Only Subject

[ )

. Only Predicate
3. Both Subject and Predicate

4. Neither Subject nor Predicate
Options :
68634090249. 1
68634090250. 2
68634090251. 3
68634090252. 4



Question Number : 63 Question Id : 68634022839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P P a2 Bld 6" T P F1 UG AT g2
1. ad 3™
2. $ad a9y
3. 3=y AR [ g1
4.7 d 3y A gl fady

Options :

68634090249. 1
68634090250. 2
68634090251. 3
68634090252. 4

Question Number : 64 Question Id : 68634022840 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote A Theory of Justice?

1. M. K. Gandhi

| )

. Ambedlkar
3. John Rawls

4. Amartya Sen
Options :
68634090253. 1
68634090254. 2
68634090255. 3
68634090256. 4

Question Number : 64 Question Id : 68634022840 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AR % S - fedt g
T, &, it
. dSHR

[

[ )

3. Gl e
4. 3 9T

Options :
68634090253. 1
68634090254. 2



68634090255. 3
68634090256. 4

Question Number : 65 Question Id : 68634022841 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who talked about 'Eudemonia'?

1. John Stuart Mill

| )

.I. M. Copti
3. Jeremy Bentham

4. Aristotle
Options :
68634090257. 1
68634090258. 2
68634090259. 3
68634090260. 4

Question Number : 65 Question Id : 68634022841 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STAYIaETE I9 fdad gRI 31 1Ts o
1. Wi % fora

TS, U, PI

3. SRH §YH

| )

4. S
Options :
68634090257. 1
68634090258. 2
68634090259. 3
68634090260. 4

Question Number : 66 Question Id : 68634022842 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Capital Punishment 1s not justified.

Reason R: Reformative theory of punishment does not accept capital pumshment.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4, A 1s not correct but R 1s correct
Options :
68634090261. 1
68634090262. 2
68634090263. 3
68634090264. 4

Question Number : 66 Question Id : 68634022842 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T &1 &Y U U §: U@ SifidU (ASSERTION A) @ 0 H fiifd & df 39U 39d ®RU (REASONR) & ®0 H:

DY (A) - TGS AEETd el el gl
@R (R) : &8 B YURTHS RiGid JUGs &I WHR el ddl gl
SR &Y & e o, -d 5T 70 fidel © T 9aY 3Ugad SR & 94 Sifag

A SRRIF Tel § IR R, AT U TR §
CASRRIAITel & IR R. AT Jol TRSN -6l &

ATEIE ORISR
4 AT TSI A RTT T

Options :

68634090261. 1
68634090262. 2
68634090263. 3
68634090264. 4

—

[ ]

L]

Question Number : 67 Question Id : 68634022843 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Duty for the sake of duty i1s advocated by Immanuel Kant.

Reason R: Maximum happiness for the maximum number of people is advocated by J. S. Mill.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4, A 1s not correct but R 1s correct
Options :
68634090265. 1
68634090266. 2
68634090267. 3
68634090268. 4

Question Number : 67 Question Id : 68634022843 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
%ﬁ%ﬁﬁﬂq f3U T 3: Ud AFUSYUT (ASSERTION A) & ¥ & fiRgd & df §8¥ 39 $RUI(REASON R) & ¥U

SHTUFUT (A) - T B WG BT Bued & GHUH TAFLT B gRI 5l T g
PRI (R) - fHIH T | ar & 070 fiead gadl & 9904 o, 09, [Hd e/ o T g |
SR By & Sl 5. -d [GU U fadheyl H U Gy 3ugdd 3tk & g4 Siag

1. A IR R G 981 € SR R. A D! U5l IR 8

A SRR EH 98I § IR R A B TEI RS el §
. ATE e OfPAR wET S R

4. AGE el g AP R TEI ©

Options :

68634090265. 1
68634090266. 2
68634090267. 3
68634090268. 4

b2

Question Number : 68 Question Id : 68634022844 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R
Assertion A: All cats are wild creatures.

All horses are wild creatures.

All horses are cats--- 1s invalid.
Reason . R: If all premises are true and conclusion is false the argument is invalid.

In the hight of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

-2

. Both A and R are correct but R 15 NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R 1s correct
Options :
68634090269. 1
68634090270. 2
68634090271. 3
68634090272. 4

Question Number : 68 Question Id : 68634022844 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
E?%ﬁmm &0 0 B: U@ ATHSHYT (ASSERTION A) & €U H fAfEd & dl GO 393 PRUT(REASON R) F FU

Aty (A) T STt s umof 21
gt 912 el urofi 2
it ars fafcai §---- sy U 8l
DR (R) - Tfe T YR HYT T € a9 IUUeR 390 & 99 db 34y 2|
SR By & el o, i 8T 7 fadedl © T Ty Iugdd 3tk &l 98 Bifeg
1. A AR R G HEl € SRR, A D! U5l AT &
2. A SRR I H&l § AR R A D] el oI -6l ©
3AFSI AP R IRl ©
4. AGEI TSl g AP R TEI ©

Options :

68634090269. 1
68634090270. 2
68634090271. 3
68634090272. 4




Question Number : 69 Question Id : 68634022845 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: (x)0x = ~[(Ix)~0x]

Reason R: Propositions that are contradictories of which one must be true and other must be false.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A

LF¥]

. A is correct but R 15 not correct

4, A is not correct but R is correct

Options :

68634090273. 1
68634090274. 2
68634090275. 3
68634090276. 4

Question Number : 69 Question Id : 68634022845 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
%ﬁﬁﬁﬂ?{ fEU T 3: Uw ATUSYUT (ASSERTION A) & ¥ & fRed & df g8 39 $RUI(REASON R) & &Y

STUBUT (A) - (x)0x = ~[(3x)~0x]

BRI (R) : Uil =il YTl & foe </awd gl U 9 i1 dliet a4l GuRl Sia%d ol [ad gH1 aligu|
IRIad &Y & i H, 1d feu 7 fasedl § ¥ 999 Idd SR &1 904 Bifed

1. A SRR 961 § IR R, AT 51 RS ©

A SRR EHI TEl § AR R. A DI UE! TRAT 61 &
AT APTIR TR T E

4 ATE TR g AfGTR WET ©

Options :

68634090273. 1
68634090274. 2
68634090275. 3
68634090276. 4

[ ]

[ 5]

Question Number : 70 Question Id : 68634022846 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: p Vv q, ~p/: q1s valid

Reason R: A valid argument form in which one premise is a digjunction, another premise 1s the denial of the
two disjuncts and the conclusion is the truth of the other disjuncts.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A1s correct but R 1s not correct

4. A 1s not correct but R is correct
Options :
68634090277. 1
68634090278. 2
68634090279. 3
68634090280. 4

Question Number : 70 Question Id : 68634022846 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gﬁ%ﬁﬁﬂ‘r{ f3U T &: Ud AFUSHUT (ASSERTION A) & ¥ & ffd & df g8 393 PRUI(REASON R) & ¥1

CIRCRIE (A) pvag, ~p :_qaﬂ%|

ST (R) : U 3¢ b Ue FSTeH Ueh YR Y [GUIoH 8. g YR B < [Ggaden] &1 3Rl g aul
JULER H [agdad &l 9 ¢

W HY o el H, -id f&U 0 fadedl # ¥ Tad 3ugad SR &1 98- Sty
A SRR EHI T8I § AR R. A DI UE ARAT S

2. A SRR M 981 § 3R R. A P He! IR -5l &

AT ATIR TR TR

4. ASEI el S APAR TRI B

Options :

68634090277. 1
68634090278. 2
68634090279. 3
68634090280. 4

sy

Lo

Question Number : 71 Question Id : 68634022847 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Whenever there 1s smoke there 1s fire.

Reason R: According to David Hume, there is a constant conjunction between smoke and fire.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A is not correct but R 1s correct
Options :
68634090281. 1
68634090282. 2
68634090283. 3
68634090284. 4

Question Number : 71 Question Id : 68634022847 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
d &1 &Y fGU U §: Tdh SfidYH (ASSERTION A) & &Y H fiiiigd & df GU 34d &RUI (REASONR) b &4 1

3B (A) - 58T YT EI1 2. 1 SAFTBK 51

BRI (R) 3138 TgA & AR Y3ff 3R 311 & o9 & ve fFad gaem

SR &y & Sl o, -id [GU 70 fadedl H U Tay 3ugdd 3tk &l 9ad Siag
ASIRREF T8I § AR R A DI HEl TRAT

2. A SRR I 98 § AR R. A P Hel oI -8l §

3.ATSI el R HEl 6l ©

4. AGEI TSl g AP R WEI B

Options :

68634090281. 1
68634090282. 2
68634090283. 3
68634090284. 4

—

Question Number : 72 Question Id : 68634022848 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Benedict Spinoza talks about Monism.

Reason R: He said God is the only independent Reality.

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4, A 1s not correct but R 1s correct
Options :
68634090285. 1
68634090286. 2
68634090287. 3
68634090288. 4

Question Number : 72 Question Id : 68634022848 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fd &l @Y fEU U §: U iU®YA (ASSERTION A) & U H fdild 8 ol gUvI 39d RUI (REASON R) & &0 H:

BT (A) - I Sae RO Hgaaig & @df B g |
HRUN(R) : S-TSae R-To 4 el U1 fih 3% €1 Us A Wod aaiaddl o
SR &Y & el o, -Iid 3T 70 fadedl & T Gy 3ugdd 3R &l 984 Bifag
1. A SR R 31 961 § SRR, A T Tg! URAT &
2. A SRR G FEI § IR R, A D! G5l RS T8l ©
3. ATS AT R O S ®
4. AGEI TSl EGIR TRl ©

Options :

68634090285. 1
68634090286. 2
68634090287. 3
68634090288. 4

Question Number : 73 Question Id : 68634022849 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The order of the Samhitas

A. Sama - Veda
B. Atharva - Veda
C.Rg - Veda

D. Yajur - Veda

Choose the correct answer from the options given below:

1.LA-B-C-D

| )

.D-C-B-A
3.C-A-D-B

4.B-D-A-C
Options :
68634090289. 1
68634090290. 2
68634090291. 3
68634090292. 4

Question Number : 73 Question Id : 68634022849 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tfgarsii &1 3T FH &-

A. THdg
B. 3uddeg

C. BIdg
D. 79dg
i f4U U fa eyl § T el 3R &1 98 Bl

1.LA-B-C-D

| )

.D-C-B-A
3.C-A-D-B

4. B-D-A-C
Options :
68634090289. 1
68634090290. 2
68634090291. 3
68634090292. 4

Question Number : 74 Question Id : 68634022850 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The order of the Vedic Literature are

A. Sambhitas
B. Upanishads
C. Aranyakas
D. Brahmanas

Choose the correct answer from the options given below:

1.C-D-B-A

| )

.D-C-A-B
3JJA-B-C-D

4.B-D-A-C
Options :
68634090293. 1
68634090294. 2
68634090295. 3
68634090296. 4

Question Number : 74 Question Id : 68634022850 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ay & Ifd HH 5-

e
B. 309G
C. HRUGH
D. dlglUf

i f4U U fa eyl § T el 3R &1 98 Bl

1.C-D-B-A

| )

.D-C-A-B
3,JA-B-C-D

4. B-D-A-C
Options :
68634090293. 1
68634090294. 2
68634090295. 3
68634090296. 4

Question Number : 75 Question Id : 68634022851 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The order of the 4 figures in categorical syllogisms are

Choose the correct answer from the options given below:

1.B-C-D-A

| )

A-B-C-D
3B-D-C-A

4 A-C-D-B
Options :
68634090297. 1
68634090298. 2
68634090299. 3
68634090300. 4

Question Number : 75 Question Id : 68634022851 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Freulite a7 4 31gidsi & o &-

SN

[E

i fGu TU fad el O ¥ Iel IR &1 994 Sifolu:

1.B-C-D-A

2

A-B-C-D

3 B-D-C-A

4 A-C-D-B



Options :

68634090297. 1
68634090298. 2
68634090299. 3
68634090300. 4

Question Number : 76 Question Id : 68634022852 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of the 4 basic standard form categorical propositions are

A. Particular Affirmative
B. Universal Negative
C. Universal Affirmative
D. Particular Negative

Choose the correct answer from the options given below:

1. D-C-B-A

[ )

.C-B-A-D
3JA-D-C-B

4B-A-D-C
Options :
68634090301. 1
68634090302. 2
68634090303. 3
68634090304. 4

Question Number : 76 Question Id : 68634022852 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freaTfie wfosiiadl & 9 4 STURYG 0@ & &4 o-

A A WIHRIED
B. goamdt uuraTs
C. JdaTdt WeRHAS
D. 3{¥reandt Huure®

e feu U fas el © ¥ 98l 3R &1 994 Sl

1. D-C-B-A

| )

.C-B-A-D
3JA-D-C-B
4.B-A-D-C

Options :



68634090301. 1
68634090302. 2
68634090303. 3
68634090304. 4

Question Number : 77 Question Id : 68634022853 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following 1s the correct statement that represents the 1dea of Euthanasia?

A. Tt is about right to terminate one's life.

B. It 1s about controlling suicidal tendency among patients.

C. It 1s about allowing terminal patients to have natural death.
D. It is about state's control over the life of terminal patients.

Choose the correct answer from the options given below:
1. Aand D only
2. Aand C only
3. B and C only

4. B and D only
Options :
68634090305. 1
68634090306. 2
68634090307 3
68634090308. 4

Question Number : 77 Question Id : 68634022853 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafaad 3 9 & 91 981 $Y- 8 5 & [39R &1 HEd aXdl 82

A. g ford ofda gRT 39= offas &1 OuTd & & IR I 81
B. U8 TGl § e dl & 0gfd & Faa0 & ar H g

C. T8 ARGl B WIpfas g &1 A0 UeH &3 & aR J 8
D. U8 302 TR0l & g TR Ioy & Uau & e | g1

= flqu Tt fas et © 9 Hel SR &1 98- SIfew:
. PadATID
L PATATAC
. PAd B UA C
4. AT B UG D
Options :

68634090305. 1
68634090306. 2

—t

| )

T



68634090307. 3
68634090308. 4

Question Number : 78 Question Id : 68634022854 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Logical order of Quantification rules are

A, Universal Instantiation

B. Existential Instantiation
C. Existential Generalization
D. Universal Generalization

Choose the correct answer from the options given below:

1.LA-B-C-D

[ )

.C-B-A-D
3.D-A-C-B

4. A-D-B-C
Options :
68634090309. 1
68634090310. 2
68634090311. 3
68634090312. 4

Question Number : 78 Question Id : 68634022854 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gRamTs faa &1 aifde oH -

A, qaeaTdl e

B. SIRET@U® EFid®Rl
C. HIETaURS GHRIDHI
D. Tdeardt STt

i faU U fad eyl § T el 3R &1 98 Hifou:

1.LA-B-C-D

| )

.C-B-A-D
3.D-A-C-B

4 A-D-B-C
Options :
68634090309. 1
68634090310. 2
68634090311. 3
68634090312. 4



Question Number : 79 Question Id : 68634022855 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of the 4 valid means of Nyaya system are

A. Comparison

B. Perception

C. Verbal - Testimony
D. Inference

Choose the correct answer from the options given below:

1.D-A-B-C

| )

.B-D-A-C
3JJA-B-C-D

4. C-A-B-D
Options :
68634090313. 1
68634090314. 2
68634090315. 3
68634090316. 4

Question Number : 79 Question Id : 68634022855 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1Y X & 4 dY AT BT HY g-

A. A
B. UQIE

C. Teg YA
D. 3 AH

i flqu T fas el § 9§ Hel SR &1 98- SIfew:

1.D-A-B-C

[ ]

.B-D-A-C
3JA-B-C-D

4, C-A-B-D
Options :
68634090313. 1
68634090314. 2
68634090315. 3
68634090316. 4

Question Number : 80 Question Id : 68634022856 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Desartes begins with doubt only to arrive at certainty of knowledge.

Statement II: Immanuel Kant accepts the possibility of an unknowable domain of the world beyond that of
the knowable domain.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634090317. 1
68634090318. 2
68634090319. 3
68634090320. 4

Question Number : 80 Question Id : 68634022856 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIC AR E RIS

HYF I: SHICY BHad I B FHiHdal )R Ugd- & 9os 4 3RY ST 6|

FYF I UL Bl (9% o (BT 3R &7 T 0L 54l 30 &7 B JU1a 31 WioR Sl ol

SR &Y & SHdlid H, -iid [GU T fadwedl H U 9y 3ugdd 3tk & 9ad Sifag
1.HYF 1 3R I aH §A §

HYE 1 3R 11 g T §

| ]

3. PYTI9d §. AT oY I ITT

4. BYTI HT 8. AP HYT 19T &
Options :
68634090317. 1
68634090318. 2
68634090319. 3
68634090320. 4

Question Number : 81 Question Id : 68634022857 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: I. S. Mill advocated the theory of Utilitarianism.

Statement IT: Aristotle advocated the theory of Deontology.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II 1s true
Options :
68634090321. 1
68634090322. 2
68634090323. 3
68634090324. 4

Question Number : 81 Question Id : 68634022857 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T s RumuE

FYT L. 9. 0H. fird I e & g9 fean g

FYF I 3RF A IRV FRUE Riid & a9d= fearg |

SR &Y & e o, -d 5T 70 fidel © T 9aY 3Ugad SR & 94 Sifag
1. YT 1 3R 1 H T T

HYF 1 3R 11 gH T ©

[ ]

3. Y1 TT 8. AT PYT 1 3T

4. YT HTT 8. AP HUT 190§
Options :
68634090321. 1
68634090322. 2
68634090323. 3
68634090324. 4

Question Number : 82 Question Id : 68634022858 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In 'A' proposition only subject is distributed.

Statement IT: In 'T' proposition no term is distributed.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II 1s true
Options :
68634090325. 1
68634090326. 2
68634090327. 3
68634090328. 4

Question Number : 82 Question Id : 68634022858 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TAaFEREmE

FYF I dhad A H Hac 3539 B AN gl 8l

YT II: dhaiad I | @is off ug &1 =i 78 eidi g |

SR &Y & e o, -d 5T 70 fidel © T 9aY 3Ugad SR & 94 Sifag
1. YT 1 3R 1 H T T

HYF 1 3R 1gHf T ©

[ ]

3. Y1 TT 8. AT PYT 1 3T

4. YT HTT 8. AP HUT 190§
Options :
68634090325. 1
68634090326. 2
68634090327. 3
68634090328. 4

Question Number : 83 Question Id : 68634022859 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In the proposition "No students are Intelligent". only subject term is distributed.

Statement I1: In the proposition "No students are Intelligent”. both subject and predicate terms are distributed.
In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II 1s true
Options :
68634090329. 1
68634090330. 2
68634090331. 3
68634090332. 4

Question Number : 83 Question Id : 68634022859 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T s RumuE

FUYT 1. ®rs i faanff gfeam 78 8 9199 o Saw 3539 UG ®1 A g5 6

HYT I "Bs +ff Gendf gfgam 721 8 area o Se=a qur fqdg gHf ug & anfid g3 o
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4. DY 17Ted &, Al PUT 1 HI §

Options :

68634090329. 1
68634090330. 2
68634090331. 3
68634090332. 4

[ ]

Question Number : 84 Question Id : 68634022860 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I ' BARBARA' 18 a valid mood of 1st figure.

Statement IT: 'CESARE' is a valid mood of 2nd figure.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II 1s true
Options :
68634090333. 1
68634090334. 2
68634090335. 3
68634090336. 4

Question Number : 84 Question Id : 68634022860 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TAaFEREmE

FY ['BARBARA' UYH 3HR &1 UH 0¥ TSR 6|
FYF I ‘CESARE TG0 PR &1 U dY UPR 8l
SR &Y & e o, -d 5T 70 fidel © T 9aY 3Ugad SR & 94 Sifag

1. BYF 13R 1 SH gl 8

Y 1 3R 11 &1 e §

3. PYT1HE! . Wi YT 117Tdd ©
4. T AT 8, Ao B 198 3

Options :

68634090333. 1
68634090334. 2
68634090335. 3
68634090336. 4

[ ]

Question Number : 85 Question Id : 68634022861 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I "The Straw man" i3 a kind of Informal fallacy.

Statement IT: One of the Informal fallacy 1s committed when force 1s relied on to win consent.

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II 1s true
Options :
68634090337. 1
68634090338. 2
68634090339. 3
68634090340. 4

Question Number : 85 Question Id : 68634022861 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T s RumuE

FYT LS BT BT SHENG G 31 U6 SR &
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Options :

68634090337. 1
68634090338. 2
68634090339. 3
68634090340. 4

[ ]

Question Number : 86 Question Id : 68634022862 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I Ahimsa means non-violence.

Statement IT: Ahimsa is one of the Mahamantra in Yoga Philosophy

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

Options :

68634090341. 1

68634090342. 2

68634090343. 3
68634090344. 4

Question Number : 86 Question Id : 68634022862 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090341. 1
68634090342. 2
68634090343. 3
68634090344. 4

Question Number : 87 Question Id : 68634022863 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following said that metaphysical statements are non-sensical?

A, Kant

B. Richard Rorty
C. Wittgenstein
D. A I Ayer

Choose the correct answer from the options given below:

1. B only

| )

. C only
3.D only

4. C and D only
Options :
68634090345. 1
68634090346. 2
68634090347. 3
68634090348. 4

Question Number : 87 Question Id : 68634022863 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafatad # 9 foe @e @ i ao-rdm Rds &2

A BT
B.ﬁﬂ%fﬁé’f
c.

D.T. O 3R

1= fqu U feeedl # € Hel 3k &1 98- SIfey:
1. ®dd B

.PpadC

3.®ad D

4.%dd C 3R D

Options :

68634090345. 1
68634090346. 2
68634090347. 3
68634090348. 4

| )

Question Number : 88 Question Id : 68634022864 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Naiyayikas are:

A. Epistemological Realists
B. Metaphysical Realists
C. Presentationists

D. Representationists

Choose the correct answer from the options given below:
1. Aand D only
2. B and D only
3.A.Band C only

4. A, B and D only
Options :
68634090349. 1
68634090350. 2
68634090351. 3
68634090352. 4

Question Number : 88 Question Id : 68634022864 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A JH I gurdaret
B. TeATfaTes gureiandt
C. RIYFATg

D. UlaHeare

1= fqu U fee el # ¥ Hel 3k &1 98- SIfey:
1. %ad ASRD

.®ad B 3RD

3.%dd A.B3IRC

4.%9d A.B3IRD

Options :

68634090349. 1
68634090350. 2
68634090351. 3
68634090352. 4

| )

Question Number : 89 Question Id : 68634022865 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concept of "Apurva’ - the unseen potency 1s associated to -

A. Advaita

B. Purva Mimamsa
C. Nyaya

D. Vaisesika

Choose the correct answer from the options given below:

1. A only

| )

. B only
3. C only

4. D only
Options :
68634090353.
68634090354.
68634090355.
68634090356.

AW N ==

Question Number : 89 Question Id : 68634022865 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3 - TP JTHE HTYROT Taferd o-

A, 3gd
B. qd HimEr
C. ™
D. a8f3®
= feu e faweut d 3 9! ST &1 9 Fife:
1. Had A
. $dd B
3.9ad C
4.%dd D
Options :
68634090353, 1
68634090354, 2

68634090355. 3
68634090356. 4

| ]

Question Number : 90 Question Id : 68634022866 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the titles of the books not authored by Sheila Rowbatham?

A. Women. Resistance and Revolution
B. Hidden from History

C. Past 1s before us

D. Sexual Politics

Choose the correct answer from the options given below:

1. A only

| )

. D only
3. B only

4. C only
Options :
68634090357.
68634090358.
68634090359.
68634090360.

AW N ==

Question Number : 90 Question Id : 68634022866 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa & & SH-a1 3ive gwad o ey gR o 718 Tel 2

A Higen wfaiy dur wifd
B. sfderg 4 ufed

C. ¥Id AR gAY &

D. Tifa® It

= fGu Te fad el O ¥ Tel 3T &1 994 Sifolu:
1.Had A

. ®ad D
3.%4dd B
4.4 C

Options :

68634090357. 1

68634090358. 2

68634090359. 3
68634090360. 4

| )

Question Number : 91 Question Id : 68634022867 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Rational is Real and Real is rational" - who said this statement?

A. Hegel

B. Kant

C. Locke
D. Berkeley

Choose the correct answer from the options given below:

1. A only

| )

. B only
3. C only

4. A and D only
Options :
68634090361. 1
68634090362. 2
68634090363. 3
68634090364. 4

Question Number : 91 Question Id : 68634022867 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T% B aRdfaddl ¢ aUl aRddedl 8 9P & I8 $U g el
A B

B. ®ic
C.dl®
D. §&d
= feu e fawed | § 9Et IO &1 994 B
1. hdd A
.Hadd B
3.%49d C
4.%dd ASIRD
Options :
68634090361. 1
68634090362 2

68634090363. 3
68634090364. 4

| ]

Question Number : 92 Question Id : 68634022868 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following pramanas (sources of valid knowledge) are accepted by Ramanuja?

A. Perception

B. Inference

C. Comparison

D. Verbal Testimony
E. Arthapatti

Choose the correct answer from the options given below:

1. A.B. D only

2

.A.B.C.D only
3.AB.C.Dand E

4. A. B only
Options :
68634090365. 1
68634090366. 2
68634090367. 3
68634090368. 4

Question Number : 92 Question Id : 68634022868 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiiad 3 9 & F-91 99101 (J1H &1 38 Wid) IHHS gR1 Widhd o-

A UTE

B. A
C. 39
D. XTsg WHIUT
E. Ui

- feu T fd el & 8 Het SR &1 99+ Sifo:
1.dd A.B.D

.®dd A.B.C.D

3.%49d A.B.C.D 3IRE

4.%dd A.B

Options :

68634090365. 1
68634090366. 2
68634090367 3
68634090368. 4

| )

Question Number : 93 Question Id : 68634022869 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The main characteristics of Liberal Democracy is

A. More than one political party freely competing for political power.
B. Political offices not confined to any priviledged class

C. Protection of Civil liberties

D. Independence of the Judiciary

Choose the correct answer from the options given below:

1. A.B. C and D only

| )

A, B, Conly
3. A. B only

4. A only
Options :
68634090369. 1
68634090370. 2
68634090371. 3
68634090372. 4

Question Number : 93 Question Id : 68634022869 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3aR didpad ot g fa<ivdrd §-

A. T ¥ ¥ Io-fae ga Iefae wfdd gq wiawgef sa 81
B. IS draferd fawt 9ol gq Hifd gl gial

C. TR Al 1 G|

D. IGUIfeie] S WA

- feu e famedt & ¥ 98t 3w @1 90 Bifoe
1.%ad A, B. C 3R D
2.%dd A, B.C
3.%dd A B
4.9ad A

Options :

68634090369. 1
68634090370. 2
68634090371. 3
68634090372. 4

Question Number : 94 Question Id : 68634022870 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Akhvativada 1. | Madhyvamika Schooll
B. |Anvathakhvativada I1. |Vedanta
C. |Anirvachanivakhvativada III. |Nvava Philosophy
D. |Sunvakhyativada IV. | Prabhakar Mimamsal

Choose the correct answer from the options given below:

1. A-I. B-III. C-IL. D-IV

| ]

CA-TV. B-IIL. C-I1, D-I
3. A-IL. B-IV. C-III. D-I

4. A-IV. B-1I. C-1. D-III
Options :
68634090373. 1
68634090374. 2
68634090375. 3
68634090376. 4

Question Number : 94 Question Id : 68634022870 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 1 ¥ firar ifeg
A1 T I
A |3REmiadrg I [egife dued
B. [agyrEiadg 1. [dgid
C. [siRda-TaEndarg] o [am gEq
D [RREaaG IV. [IHTehR HHE

fAafdaRad fasedl O O 98l 3R &1 90+ I ;

1. A-I. B-III, C-II. D-IV

[ )

. A-IV, B-II1. C-II. D-I
3. A-IL. B-IV. C-III. D-I

4. A-IV. B-1I. C-1. D-T1I
Options :
68634090373. 1
68634090374. 2
68634090375. 3
68634090376. 4

Question Number : 95 Question Id : 68634022871 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
A |Astanga-Yoga I. Painism
B. | Triratna II. [Yoga Philosophy
C. |Sapta-bhangi-naval [II. | Buddhism
D. | Kawvalya IV, |Samkhya Philosophy

Choose the correct answer from the options given below:

1. A-II. B-IIL. C-L. D-IV

[ )

CA-IITL B-1L C-I1, D-IV
3. A-IL. B-1. C-IV. D-II1

4. A-IV, B-1I. C-III., D-1

Options :

68634090377. 1
68634090378. 2
68634090379. 3
68634090380. 4

Question Number : 95 Question Id : 68634022871 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 1 ¥ fiar ooy
T 1 T 1
A e am e
B. [FRa I [araziq
c. [ga-sifiag |1 [ais e
D. [hdca V. [arem gia
fAafdaRad fasedl O O Uel 3Tk &1 90+ I

1. A-I1. B-III. C-1. D-IV

[ ]

CACIIL B-1L C-IL D-IV

. A-IL. B-L. C-IV. D-III

s

4. A-IV. B-11. C-III. D-1
Options :
68634090377. 1
68634090378. 2
68634090379. 3
68634090380. 4

Question Number : 96 Question Id : 68634022872 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTIT
. |Advaita I. |[Ramanujacharyal
Visistadvaita | II. Madhvacharva
[Drvaita-dvaita | I11 |Shankaracharva
_ |Sudha-dvaita | IV [Vallabhacharya

wi fol fo=] i3

Choose the correct answer from the options given below:
1. A-IIL. B-IV. C-II. D-I
2. A-L B-IIL C-IV. D-II
3. A-IIL B-L. C-II, D-IV

4. A-11. B-1. C-III. D-IV
Options :
68634090381. 1
68634090382. 2
68634090383. 3
68634090384. 4

Question Number : 96 Question Id : 68634022872 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 b1 el 1 § e eifeg
T 1 T I
A lorga 1 R s
B. [[GfRwTEd 1. [A1ed g
C. [edied 111 [gid
D. [gmisd IV. [geeH 3

Fafeiad f[dewedl § 9 9l 3a &1 99 Bl ;

1. A-TIL B-1V, C-II. D-I

[ ]

CA-L B-IIIL C-IV, DAII
3. A-IL B-1. C-I1. D-IV

4. A-T1. B-1. C-III. D-IV
Options :
68634090381. 1
68634090382. 2
68634090383. 3
68634090384. 4

Question Number : 97 Question Id : 68634022873 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I

LISTI LISTII
. [Universal Affirmative | I. NoSi1sP
[Universal Negative I [I
Particular Affirmative| ITI. |All S 15 P
Particular Negative |IV. |O

o| o] w|s

Choose the correct answer from the options given below:

1. A-II. B-1. C-I1I. D-IV

[ )

. A-IV, B-II. C-1, D-III
3. A-IL B-1, C-II. D-IV

4. A-1. B-II. C-IV. D-I11
Options :
68634090385. 1
68634090386. 2
68634090387. 3
68634090388. 4

Question Number : 97 Question Id : 68634022873 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i 191 941 11 ¥ e sifey

A I T 11
_[qdandl 4eRES| L [os HisPRl g
el HHRIES | 1L ) |

3T GhRTeD| 1L [GHi S PE
_ |siyedt 9ERES | IV |0

fAufiRad fasedl O O Uel 3R &1 90+ I

1. A-I1. B-1. C-III, D-IV

o|o|w (e

| ]

CA-IV. B-IIL C-1. D-III
3. A-IIL. B-1. C-II. D-IV

4. A-L. B-II. C-IV. D-III
Options :
68634090385. 1
68634090386. 2
68634090387. 3
68634090388. 4

Question Number : 98 Question Id : 68634022874 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A | On what there 15 1. | Bertrand Russelll
B. |Tractatus II. [W. V. O Quine
C. |The Critique of Pure Reason | ITI. [Wittgenstein
D. |Appearance and Reality IV, | Immanual Kant

Choose the correct answer from the options given below:

1. A-I. B-III. C-IL. D-IV

| ]

CA-TV. B-ILL C-I11, D-I
3. A-IL. B-III. C-IV. D-I

4. A-IT1. B-11. C-IV, D-1
Options :
68634090389. 1
68634090390. 2
68634090391. 3
68634090392. 4

Question Number : 98 Question Id : 68634022874 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 1 ¥ firar Sifom
A I T I
A, |3 5gl¢ GO 3o I [geve W
B. [¢aerey 1L [Sac dl 3l B
C. [& Iwife® it WR deH| 111 [flaeiis
D. [oluyg uve Ruferdt |1V, [gHHud &l

fAafdaRad fasedl O O 98l 3R &1 90+ I ;

1. A-I. B-III, C-II. D-IV

[ )

. A-IV, B-II. C-III. D-I

. A-IL. B-III. C-IV. D-I

L

4. A-TIL. B-1I1. C-IV. D-I
Options :
68634090389. 1
68634090390. 2
68634090391. 3
68634090392. 4

Question Number : 99 Question Id : 68634022875 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. |Beene Descartes | [ [Esse est Percipi
John Locke I1. |Cogito ergo sum|

George Berkeley| IIL. [Tabula Rasa
. [David Hume IV, [Causality

wl Fo foe] 2

Choose the correct answer from the options given below:

1. A-I. B-III. C-IL. D-IV

| ]

CA-IL B-IV. C-I11, D-1
3. A-IL B-IIL. C-I. D-IV

4. A-IV. B-11. C-I1I. D-1
Options :
68634090393. 1
68634090394. 2
68634090395. 3
68634090396. 4

Question Number : 99 Question Id : 68634022875 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 1 ¥ firar ifeg
e 1 At I

A R e 1. [e%ad 3fd add

B. [ dl® il EEP RS

C. [@Weabd | [@R ufga

D [Sfasggs | 1v [eRum

fAafdaRad fasedl O O 98l 3R &1 90+ I ;

1. A-I. B-III, C-II. D-IV

[ )

. A-IL. B-IV. C-III. D-I
3. A-IL. B-III. C-L. D-IV

4. A-TV. B-1I. C-I1I. D-1
Options :
68634090393. 1
68634090394. 2
68634090395. 3
68634090396. 4

Question Number : 100 Question Id : 68634022876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I

LIST1I LISTII
A |Anstotle I. |Deontology
B [Kant 1T |Utilitarianism
C. | Mill ITI. [Virtue Ethics
D. | Bhagvad Gita | IV. | Niskama Karma

Choose the correct answer from the options given below:
1. A-I. B-II. C-I1I. D-IV
2. A-IL B-1. C-II. D-IV
3. A-IV. B-II. C-II1L. D-I

4. A-I1. B-IV. C-1. D-I11
Options :
68634090397. 1
68634090398. 2
68634090399. 3
68634090400. 4

Question Number : 100 Question Id : 68634022876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 51 gl 1 ¥ firaH ey
T 1 gl I
A JeRE I [gfeomH e arg)
B. [@ic 1. [GuaiRaae
C. [FEe I11. [geelt g
D. prEg al |1V [AepmE @E
fFafdRad faeedl T 9 981 3R &1 94+ I ;

1. A-I. B-II, C-III, D-IV
2. A-IL B-1. C-I1. D-IV
3. A-IV. B-1I. C-III. D-1I

4. A-II. B-IV. C-1. D-III
Options :
68634090397. 1
68634090398. 2
68634090399. 3
68634090400. 4



